
  

How   Testwise   Are   You?   
original   source   unknown  

  
Strategies   for   “outsmarting”   the   test   

● Eliminating   obviously   wrong   options   
● Eliminating   options   that   mean   the   same   thing   
● Looking   for   repetition   between   the   stem   and   options   
● Looking   for   an   option   that   includes   all   other   options   
● Looking   for   grammatical   inconsistencies   between   the   stem   and   options   
● Looking   for   absolutes   
● Looking   for   clues   and   other   items   
● Looking   for   the   longest,   most   precise   option   

  
  

Directions:    Read   each   question   carefully.   Circle   the   letter   of   the   option   that   you   think   is   correct   and   write   your   reason   
(testwise   strategy)   for   selecting   this   option   on   the   line   below   the   question.   
  

1. The   bower   can   cause   the   gumble   to   mast   because   -   
a. all   bowers   are   don.   
b. gumbles   usually   vint.   
c. bowers   must   sumple.   
d. no   gumble   will   yert.   

  
Reason:   ____________________________________________________________________________________   
  
  

2. The   jumple   will   wanik   when   -     
a. the   vertle   krulls.   
b. the   amders   are   vrel.   
c. the   madar   wimples   and   causes   ternix   or   lomption   to   occur.   
d. the   hamnic   tops   the   vormat.   

  
Reason:   ____________________________________________________________________________________   
  
  

3. The   function   of   the   hinter   in   vornex   process   is   to   add   -     
a. dousts.   
b. remiles.   
c. practels.   
d. hintermoss.   

  
Reason:   ____________________________________________________________________________________   
  
  

4. The   raver   will   seam   with   a   -   
a. portar.   
b. everil.   
c. octer.   
d. umbra.   

  
Reason:   ____________________________________________________________________________________   
  

  
  



  

  
5. For   which   reasons   did   the   zamoc   kareen?   

a. The   poner   oozed   mapid   tarbin.   
b. The   naven   moped   and   the   savil   borthed.   
c. Most   werts   bumped   after   tavling.   
d. Few   tabils   became   novtols.   

  
Reason:   ____________________________________________________________________________________   
  
  

6. Which   (is,   are)   never   present   when   lempens   are   being   vexed?   
a. Ram   and   krem   
b. Krem   and   pommel   
c. Tevar   and   krem   
d. Krem   

  
Reason:   ____________________________________________________________________________________   
  
  

7. The   seaming   function   of   the   portar   is   most   effectively   used   in   connection   with   -     
a. a   nova   brig.   
b. a   raver.   
c. the   notrin.   
d. the   nimmer   tag.   

  
Reason:   ____________________________________________________________________________________   
  
  

8. The   total   profit   for   Grezzle,   Inc.   is   less   than   -     
a. 10   million.   
b. 8   million.   
c. 5   million.   
d. 1   million.   

  
Reason:   ____________________________________________________________________________________   
  
  

9. The   pavin   will   typically   estivate   in   which   of   these   situations?   
a. When   the   jab   strikes   the   vap   
b. When   the   voble   mavils   
c. When   the   betam   is   whant   
d. When   the   rapple   torks,   if   the   rapple   is   galled   or   twizzled   

  
Reason:   ____________________________________________________________________________________   
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